

## FIRST AMENDMENT TO THE AGREEMENT BETWEEN OKALOOSA COUNTY, FLORIDA AND ALL PRO INTEGRATES SYSTEMS CONTRACT NO. C22-3230-TDD

This First Amendment to the Agreement between Okaloosa County, a political subdivision of the State of Florida (the "County"), and All Pro Integrates Systems (the "Contractor"), executed this <u>10th</u> day of <u>November</u>, 2022, is made a part of the original Agreement dated September 14, 2022, Contract No. C22-3230-TDD (the "original Agreement"), incorporated herein by reference. The County and Contractor hereby agree as follows:

- 1. The County and Contractor wish to amend Attachment "A" of the original Agreement to address discrepancies in the Contractor's bid tab. The updated bid tab is attached hereto as Attachment "A" and made a part of the original Agreement.
- 2. **OTHER PROVISIONS REMAIN IN EFFECT.** Except as specifically modified herein, all terms and conditions of the original Agreement between the parties, dated September 14, 2022 and any amendments thereto, shall remain in full force and effect.
- 3. **CONFLICTING PROVISIONS.** The terms, statements, requirements, or provisions contained in this Amendment shall prevail and be given superior effect and priority over any conflicting or inconsistent terms, statements, requirements or provisions contained in any other document or attachment.

**IN WITNESS WHEREOF**, the parties hereto have executed this Amendment on the day and year first written above.

## ALL PRO INTERGATED SYSTEMS:

Fred Cook

Fred Cook, VP Finance and Administration

# OKALOOSA COUNTY, FLORIDA

BY: John Hofstad Date: 2022.11.10 11:17:36

John Hofstad, County Administrator



## ATTACHMENT "A" UPDATED BID TAB

# **REVISED BID RESPONSE**

# BALLROOM VIDEO UPGRADE FOR DFWBCC

Ballroom 1

Part	Description	Per Unit	Amount needed	Total Price
GRID	HDMI over IP Receiver 4K POE HDCP & 2.2	\$535	6	\$3,210
MDF-01 Equipment Rack	Hanging Overhead 12RU Rack	\$831.27	1	\$831.27
GUI Controller	Advanced Control Module for UHD-RX/TX	\$282.96	1	\$282.96
Network Switch	Business Managed Switch 24 Port GE, Full PoE, 4X10G SFP+	\$1,272.12	1	\$1,272.12
Network Switch 10GBASE-LRM SFP+ 1310nm 220m DOM LC MMF/SMF Transceiver Module for FS Switches		\$28.53	4	\$114.12
Patching	DATA Patch Panel, 24 port	\$49.93	1	\$49.93
Patching	FS IRU Rack Mount Fiber Box	\$111.47	1	\$111.47
Patching	12XLC Duplex, 24 Fibers OM4	\$29.72	1	\$29.72
Patching	FS FHD Blanking Fiber Adapter Plate	\$4.51	3	\$13.53
Uninterruptible Power Supply	100VA/600W Intelligent, Line- Interactive UPS with Smart APP Software, AVR, 1U Rack mount	\$404.17	1	\$404.17
Uninterruptible Power Supply	Could Monitoring Card	\$51.99	1	\$51.99
Equipment Rack	DC Fan Panel-2U, Two 3.5", Fans, 52cfm total, 26dB, Universal Power Supply with 4 plug adaptors	\$203.37	1	\$203.37
IP Video Transmitters	IP Multicast UHD Video Transmitter over 1Gb Network featuring Dante Integration	\$857.19	4	\$3,428.76
IP Vídeo Transmítters	2U rack for 4 x multicast TX/RS	\$101.06	1	\$101.06
Power Distribution	PDU Single Phase Basic Horizontal 120V 2.9KW 24 5- 15R 30A 1U RM	\$255.43	1	\$255.43
Rolltop Desk	Custom Rolltop desk	\$8,300	1	\$8,300
Uninterruptible Power Supply	1000VA/600W Intelligent, Line-interactive UPS with Smart App Software, AVR, 1U Rack mount	\$404.17	1	\$404.17
Roll Top Desk	Roll Top Desk Hardware	\$594.44	1	\$594.44
Equipment Rack	Rack Suspension Hardware	\$297.50	1	\$297.50
AV PB-2	Back Panel Blank- 2V	\$25.58	1	\$25.58
CBP-1	Panel with Brush Strip, IV	\$43.72	1	\$43.72
	Total Bid Price Ballroom 1		+	\$20.025.31

#### Ballroom 2

Part	Description	Per Unit	Amount needed	Total Price
GRID	IP Video Receivers	\$535	3	\$1,605
Equipment Rack Hanging Overhead 12RU Rack		\$831.27	1	\$831.27
Network Switch	Business Managed Switch 16 Port GE, PoE, 2x1G SFP	\$519.79	1	\$519.79
Network Switch	10GBASE-LRM SFP+ 1310nm 220m DOM LC MMF/SMF Transceiver Module for FS Switches	\$28.53	2	\$57.06
Patching	DATA Patch Panel, 24 port	\$49.93	1	\$49.93
Patching	IRU Rack Mount Fiber Box	\$111.47	1	\$111.47
Patching	12XLC Duplex, 24 Fibers OM4- Multimode FHD Fiber Adaptor Panel	\$29.72	1	\$29.72
Patching	Blanking Fiber Adapter Plate	\$4.51	3	\$13.53
Uninterruptible Power Supply	100VA/600W Intelligent, Line- Interactive UPS with Smart APP Software, AVR, 1U Rack mount	\$404.17	1	\$404.17
Uninterruptible Power Supply	Could Monitoring Card	\$51.99	1	\$51.99
Equipment Rack	Rack Panel-Blank-1U, Vented/Slotted, Brushed (Black) Anodized Aluminum	\$21.84	2	\$43.68
Equipment Rack	DC Fan Panel-2U, Two 3.5" Fans, 52cfm total, 26dB, Universal Power Supply with 4 plug adaptors, Ther	\$203.37	2 qty 1	\$203.37
IP Video Transmitters	IP Multicast UHD Video Transmitter over 1Gb Network featuring Dante Integration	\$857.19	2	\$1,714.38
IP Video Transmitters	2U rack for 4 x multicast TX/RX	\$101.06	1	\$101.06
Power Distribution	PDU Single Phase Basic Horizontal 120V 2.9KW 24 5-15R 30A 1U RM	\$255.43	1	\$255.43
Equipment Rack	Rack Suspension Hardware	\$297.50	1	\$297.50
RC6V-14	Elite Core DSP RC6V-14 6 Space ATA Rack	\$131.61	1	\$131.61
CBP-1	Panel with Brush Strip, 1V	\$43.72	1	\$43.72
	Total Bid Price Ballroom 2			\$6,868.85

Total Bid Price Ballroom 2: \$6464.68

1000VA/600W Intelligent, Line-interactive UPS w/ Smart App Software, AVR 1U Rack mount: \$404.17

Updated Total Bid Price Ballroom 2:

\$6868.85

## Ballroom 3

Part	Description	Per Unit	Amount needed	Total Price
IP Video Receivers	HDMI over IP Receiver 4K POE HDCP & 2.2	\$535	3	\$1,605
Equipment Rack	Hanging Overhead 12RU Rack	\$831.27	1	\$831.27
Network Switch	Business Managed Switch 16 Port GE, Full PoE, 2x1G SFP	\$519.79	1 \$519.79	
Network Switch	10GBASE-LRM SFP+ 1310nm 220m DOM LC MMF/SMF Transceiver Module for FS Switches	\$28.53	2	\$57.06
Patching	DATA Patch Panel, 24 port	\$49.93	1	\$49.93
Patching	1RU Rack Mount Fiber Box	\$111.47	1	\$111.47
Patching	12XLC Duplex, 24 Fibers OM4	\$29.72	1	\$29.72
Patching	FHD Blanking Fiber Adapter Plate	\$4.51	3	\$13.53
Uninterruptible Power Supply	100VA/600W Intelligent, Line- Interactive UPS with Smart APP Software, AVR, 1U Rack mount	\$404.17	1	\$404.17
Uninterruptible Power Supply	Could Monitoring Card	\$51.99	1	\$51.99
Equipment Rack	Rack Panel-Blank-1U, Vented/Slotted, Brushed (Black) Anodized Aluminum	\$21.84	2	\$43.68
Equipment Rack	DC Fan Panel-2U, Two 3.5", Fans, 52cfm total, 26dB, Universal Power Supply with 4 plug adaptors, Ther	\$203.37	1	\$203.37
IP Video Transmitters	IP Multicast UHD Video Transmitter over 1Gb Network featuring Dante Integration	\$857.19	2	\$1,714.38
IP Video Transmitters	2U rack for 4 x multicast TX/RS	\$101.06	1	\$101.06
Power Distribution	PDU Single Phase Basic Horizontal 120V 2.9KW 24 5- 15R 30A 1URM	\$255.43	1	\$255.43
Uninterruptible Power Supply	1000VA/600W Intelligent, Line- interactive UPS with Smart App Software, AVR, 1U Rack mount	\$404.17	1	\$404.17
Equipment Rack	Rack Suspension Hardware	\$297.50	1	\$297.50
RC6V-14	Elite Core DSP RC6V-14 6 Space ATA Rack	\$131.61	1	\$131.61
CBP-1	Panel with Brush Strip, 1V	\$43.72	1	\$43.72
	Total Bid Price Ballroom 3			\$6,868.85

## Other Items

Part	Description	Per Unit	Amount needed	Total Price
HDMI's	MicroFlex Pro AV/IT Series 4K60 18G High Speed Active Cable with ProGrip Dark Green 15ft	\$55.57	28	\$1,555.96
Audio	8 Channel 30ft Fan to Fan XLR Extension Snake	\$59.48	1	\$59.48
Ethercon	Ultra-Rugged Shielded Tactical Cat6 Terminated Both Ends with Tactical E	\$43.53	4	\$174.12
HDMI I	MicroFlex Pro AV/IT Series 4K60 18G High Speed Active Cable with ProGrip Deep Orange 15ft	\$55.57	1	\$55.57
HDMI 2	MicroFlex Pro AV/IT Series 4K60 18G High Speed Active Cable with ProGrip Deep Red 15ft	\$55.57	1	\$55.57
HDMI 3	MicroFlex Pro AV/IT Series 4K6 18G High Speed Active Cable with ProGrip White 15ft	\$55.57	1	\$55.57
HDMI 4	MicroFlex Pro AV/IT Series 4K60 18G High Speed Active Cable with ProGrip Cool Blue 15ft	\$55.57	1	\$55.57
Power	14 Gauge Power Cable	\$59.60	1	\$59.60
Audio	8 channel 30ft Fan to Fan XLR Extension Snake	\$59.48	1	\$59.48
Ethercon	25 Ultra Rugged Shielded Tactical Cat6 Terminated Both Ends with Tactical E	\$43.53	2	\$87.06
HDMII	MicroFlex Pro AV/IT Series 4K60 18G High Speed Active Cable with ProGrip Deep Red 15ft	\$55.57	1	\$55.57
HDMI 2	MicroFlex Pro AV/IT Series 4K60 18G High Speed Active Cable with ProGrip White 15ft	\$55.57	1	\$55.57
Power	14 Gauge Power Cable	\$59.60	1	\$59.60
Audio	8 Channel 30ft Fan to Fan XLR Extension Snake	\$59.48	1	\$59.48
Ethercon	25 Ultra Rugged Shielded Tactical Cat6 Terminated Both Ends with Tactical E	\$43.53	2	\$87.06
HDMI 1	MicroFlex Pro AV/IT Series 4K60 18G High Speed Active Cable with ProGrip Deep Red 15ft	\$55.57	1	\$55.57
HDMI 2	MicroFlex Pro AV/IT Series 4K60 18G High Speed Active Cable with ProGrip White 15ft	\$55.57	1	\$55.57
Power	14 Gauge Power Cable	\$59.60	1	\$59.60
Labor	Installation Labor		1	\$39,711.34
SMA – 1 yr Workmanship	1 year workmanship warranty		1	\$0.00
Other	Lift	\$7,898.82	1	\$7,898.82
Other	Misc. Hardware & Wire	\$10,876.27	1	\$10,876.27
Other	Freight	\$2,447.12	1	\$2,447.12
Other		· · · · · · · · · · · · · · · · · · ·		
Other				
	Total Bid for other Items			\$63,639.55

Total Bid Price for Ballroom 1, 2,3 and other support:

\$97,402.56

Grand total:

\$97402.56

# PROCUREMENT/CONTRACT/LEASE INTERNAL COORDINATION SHEET

Procurement/Contract/Lease Number: <u>C22-3730-77</u> Tracking Number: <u>4908-22</u>
Procurement/Contractor/Lessee Name: all ho The The Grant Funded: YES_NO_X
Purpose: Omenament #7
Date/Term: <u>90 days from NTP</u> 1. GREATER THAN \$100,000
Department #: 173' 2. GREATER THAN \$50,000
Account #: 5 6 2190 3. 550,000 OR LESS
Amount: 197,402.56
Department: Dept. Monitor Name: QCIAMS
Purchasing Review Procurement or Contract/Lease requirements are met:
(UNITA MORA Date: 11-9-2022
Purchasing Manager or designee Jeff Hyde, DeRita Mason, Jesica Darr, Amber Hammonds
OCED Compliance Deview Standard
Approved as written: 2CFR Compliance Review (if required) Grant Name: Date:
Grants Coordinator Suzanne Ulloa
Risk Management Review
Approved as written: NO MSCellut Date:
Risk Manager or designee Kristina LoFria
Approved as written: Sol mail attorney Review Date:
County Attorney Lynn Hoshihara, Kerry Parsons or Designee
Department Funding Review
Approved as written: Date:
IT Review (if applicable)
Approved as written:
Date:

Revised September 22, 2020

## **DeRita Mason**

From:	Lynn Hoshihara
Sent:	Wednesday, November 9, 2022 3:27 PM
То:	DeRita Mason
Cc:	Parsons, Kerry
Subject:	Re: C22-3230-TDD-amendment 1
Attachments:	1st amendment to C22-3230-TDD 11.9.22.docx

Thanks for the clarification. With the attached changes, this is approved.

Lynn M. Hoshihara County Attorney Okaloosa County, Florida

Please note: Due to Florida's very broad public records laws, most written communications to or from County employees regarding County business are public records, available to the public and media upon request. Therefore, this written e-mail communication, including your e-mail address, may be subject to public disclosure.

From: DeRita Mason Sent: Wednesday, November 9, 2022 4:23:04 PM To: Lynn Hoshihara Cc: Parsons, Kerry Subject: RE: C22-3230-TDD-amendment 1

They were the only bidder. We aren't really increasing the original bid was awarded at \$97K, but after looking at the math and some line item issues, it was discovered that he math was wrong. So, technically, it is the same price as the award price. Does this make sense?

DeRita Mason



DeRita Mason, CPPO, CPPB, NIGP-CPF Senior Contracts and Lease Coordinator Okaloosa County Purchasing Department 5479A Old Bethel Road Crestview, Florida 32536 (850) 689-5960 <u>dmason@myokaloosa.com</u>